ON THE STABILITY OF FUNCTIONAL EQUATIONS CONCERNED A MULTIPLICATIVE DERIVATION

EUN HWI LEE, ICK-SOON CHANG AND YONG-SOO JUNG

Abstract. In this paper we study the Hyers-Ulam stability and the superstability of functional equations related to a multiplicative derivation.

1. introduction

In 1940, S. M. Ulam [24] posed the following problem concerning the stability of homomorphism. We are given a group G_1 and a metric group (G_2, d) . Given $\varepsilon > 0$, does there exist a $\delta > 0$ such that if a mapping $f: G_1 \to G_2$ satisfies $d(f(xy), f(x)f(y)) \leq \delta$ for all $x, y \in G_1$, then a homomorphism $g: G_1 \to G_2$ exists with $d(f(x), g(x)) \leq \varepsilon$ for all $x \in G_1$?

As an answer to the problem of the Ulam problem, D. H. Hyers [3] in 1941 has proved the stability of linear functional equation, which states that if $\delta > 0$ and $f: X \to Y$ is a mapping with X, Y Banach spaces, such that

(1.1)
$$||f(x+y) - f(x) - f(y)|| \le \delta$$

for all $\, x, \, y \in X$, then there exists a unique additive mapping $T: X \to Y$ such that

$$||f(x) - T(x)|| \le \delta$$

Received April 09, 2005. Revised June 13, 2005.

2000 Mathematics Subject Classification: 39B52, 39B72.

Key words and phrases: Hyers-Ulam-Rassias stability; multiplicative (Jordan) derivation.

for all $x, y \in X$.

In such a case, the additive functional equation f(x + y) = f(x) + f(y) is said to have the Hyers-Ulam stability property on (X, Y). This terminology is applied to all kinds of functional equations which have been studied by many authors (see, for example, [4]-[6], [15]-[20]).

In 1978, Th. M. Rassias [14] succeeded in generalizing the Hyers' result by weakening the condition for the bound of the left side of the inequality (1.1). Due to this fact, the additive functional equation f(x+y) = f(x) + f(y) is said to have the Hyers-Ulam-Rassias stability property on (X,Y). A number of Rassias type results concerning the stability of different functional equations can be found in [2, 4], [7]-[10], [18].

If each solution $f: X \to Y$ of the inequality (1.1) is a solution of the additive functional equation f(x+y) = f(x) + f(y), then we say that the additive functional equation has the superstability property on (X, Y). This property is also applied to the case of other functional equations (Refs. [1, 9, 17]).

We now consider a functional equation which defines multiplicative derivations in algebras:

$$(1.2) f(xy) = xf(y) + yf(x).$$

It is immediate to observe that the real-valued function $f(x) = x \ln x$ is a solution of the functional equation (1.2) on the interval $(0, \infty)$.

During the 34-th International Symposium on Functional Equations, Gy. Maksa [12] posed the problem concerning the Hyers-Ulam stability on the interval (0,1] of the functional equation (1.2), and J. Tabor gave an answer to the question of Maksa in [23]. On the other hand, Zs. Páles [13] remarked that the functional equation (1.2) on the interval $[1,\infty)$ for real-valued functions is superstable.

Here we introduce the following functional equations motivated by the functional equation (1.2):

(1.3)
$$f(\alpha x + \alpha y + xy + \alpha \beta) = \alpha f(x) + \alpha f(y) + xf(y) + yf(x),$$

where $\alpha, \beta \in \mathbb{R}$ with $\alpha - \beta = 1$ and

$$(1.4) f(xyz) = xf(yz) + xzf(y) + zf(xy).$$

In this paper, we will solve the functional equation (1.3) and then, by following the ideas of J. Tabor [23] and Zs. Páles [13], the Hyers-Ulam stability on the interval and the superstability on the interval of the functional equation (1.3) will be investigated, respectively. In addition, we will consider this problem for the functional equation (1.4).

Throughout this paper, we will denote by $\mathbb R$ and $\mathbb N$ the sets of real numbers and of positive integers, respectively.

2. Preliminary Examinations

It is easy to see that the real-valued function $f(x) = (x+\alpha)ln(x+\alpha)$ is a solution of the functional equation (1.3) on the interval $(-\alpha, \infty)$, where $\alpha \geq 0$. In the following theorem, we will find out the general solution of the functional equation (1.3) on the interval $(-\alpha, \infty)$, where $\alpha \geq 0$.

Theorem 2.1. Let X be a real (or complex) vector space. A function $f:(-\alpha,\infty)\to X$ satisfies the functional equation (1.3) for all $x,y\in(-\alpha,\infty)$ if and only if there exists a solution $D:(0,\infty)\to X$ of the functional equation (1.2) such that

$$f(x) = D(x + \alpha)$$

for all $x \in (-\alpha, \infty)$.

PROOF. Assume that a function $f:(-\alpha,\infty)\to X$ satisfies the functional equation (1.3), for all $x,y\in(-\alpha,\infty)$. Then we can define the mapping $D:(0,\infty)\to X$ by $D(x):=f(x-\alpha)$. So we get

$$D(xy) = f(xy - \alpha)$$

$$= f(\alpha(x - \alpha) + \alpha(y - \alpha) + (x - \alpha)(y - \alpha) + \alpha\beta)$$

$$= \alpha f(x - \alpha) + \alpha f(y - \alpha) + (x - \alpha)f(y - \alpha) + (y - \alpha)f(x - \alpha)$$

$$= xD(y) + yD(x).$$

for all $x, y \in (0, \infty)$. Therefore D is a solution of the functional equation (1.2), as desired, and $f(x) = D(x + \alpha)$ for all $x \in (-\alpha, \infty)$.

The converse is obvious.

In particular, the previous theorem holds for $\alpha < 0$ and is a generalization of [11, Theorem 2.1]. In the following theorem we consider the general solution of the functional equation (1.4).

Theorem 2.2. Let X be a real (or complex) vector space. A function $f:(0,\infty)\to X$ satisfies the functional equation (1.4) for all $x,y,z\in(0,\infty)$ if and only if there exists a solution $D:(0,\infty)\to X$ of the functional equation (1.2) such that f(x)=D(x) for all $x\in(0,\infty)$.

PROOF. Suppose that a function $f:(0,\infty)\to X$ satisfies the functional equation (1.4) for all $x,y,z\in(0,\infty)$. By letting x=y=z=1 in (1.4), we get f(1)=0. Now let us define the mapping $D:(0,\infty)\to X$ by D(x):=f(x). We claim that D is a solution of the functional equation (1.4).

Indeed, for all $x, y \in (0, \infty)$, we have

$$D(xy) = f(x \cdot 1 \cdot y)$$

$$= xf(y) + xyf(1) + yf(x)$$

$$= xD(y) + yD(x).$$

Therefore D is a solution of the functional equation (1.4), as claimed, and f(x) = D(x) for all $x \in (0, \infty)$.

The reverse assertion is trivial.

First, we demonstrate a theorem of F. Skof [21] concerning the stability of the additive functional equation f(x + y) = f(x) + f(y) on a restricted domain:

Theorem 2.3. Let X be a real (or complex) Banach space. Given c > 0, let a mapping $f : [0, c) \to X$ satisfy the inequality

$$||f(x+y) - f(x) - f(y)|| \le \delta$$

for some $\delta \geq 0$ and for all $x, y \in [0, c)$ with $x + y \in [0, c)$. Then there exists an additive mapping $A : \mathbb{R} \to X$ such that

$$||f(x) - A(x)|| \le 3\delta$$

for all $x \in [0, c)$.

For the purpose, we will introduce the next result [22] which is essential to prove the theorem 3.3:

Theorem 2.4. Let X be a real (or complex) Banach space, and let c > 0 be a given constant. Suppose that a mapping $f : \mathbb{R} \to X$ satisfies the inequality

$$||f(x+y) - f(x) - f(y)|| \le \delta$$

for some $\delta \geq 0$ and for all $x, y \in \mathbb{R}$ with |x| + |y| > c. Then there exists a unique additive mapping $A : \mathbb{R} \to X$ such that

$$||f(x) - A(x)|| \le 9\delta$$

for all $x \in \mathbb{R}$.

3. Hyers-Ulam Stability and Superstability

Our main theorem in this section is the Hyers-Ulam stability on the interval $(-\alpha, 0]$ of the functional equation (1.3) and the proof is similar to the one given in [23]. In the rest of this paper $\alpha \in \mathbb{R}$ with $\alpha > 0$, $\alpha - \beta = 1$.

Theorem 3.1. Let X be a real (or complex) Banach space, and let $f: (-\alpha, 0] \to X$ be a mapping satisfying the inequality

$$(3||f(\alpha x + \alpha y + xy + \alpha \beta) - \alpha f(x) - \alpha f(y) - xf(y) - yf(x)|| \le \delta$$

for some $\delta > 0$ and for all $x, y \in (-\alpha, 0]$. Then there exists a solution $H: (-\alpha, 0] \to X$ of the functional equation (1.3) such that

$$(3.2) ||f(x) - H(x)|| \le (4e)\delta$$

for all $x \in (-\alpha, 0]$.

PROOF. Let $g:(-\alpha,0]\to X$ be a mapping defined by

$$g(x) = \frac{f(x)}{x + \alpha}$$

for all $x \in (-\alpha, 0]$. Then, by (3.1), we see that g satisfy the inequality

$$||g(\alpha x + \alpha y + xy + \alpha \beta) - g(x) - g(y)|| \le \frac{\delta}{(x+\alpha)(y+\alpha)}$$

for all $x, y \in (-\alpha, 0]$. If we define the mapping $F : [0, \infty) \to X$ by

$$F(-ln(x+\alpha)) = g(x)$$

for all $x \in (-\alpha, 0]$, then, by setting $u = -ln(x + \alpha)$ and $v = -ln(y + \alpha)$, we obtain

(3.3)
$$||F(u+v) - F(u) - F(v)|| \le \delta e^{u+v}$$

for all $u, v \in [0, \infty)$. This means that

$$||F(u+v) - F(u) - F(v)|| \le \delta e^c$$

for all $u, v \in [0, c)$ with u + v < c, where c > 1 is an arbitrary given constant.

According to Theorem 2.3, there exists an additive mapping $A : \mathbb{R} \to X$ such that $||F(u) - A(u)|| \leq 3\delta e^c$ for all $u \in [0, c)$. If we let $c \to 1$ in the last inequality, we then get

$$(3.4) ||F(u) - A(u)|| \le 3e\delta$$

for all $u \in [0, 1]$. Moreover, it follows from (3.3) that

||
$$F(u+1) - F(u) - F(1)$$
|| $\leq \delta e^{u+1}$
|| $F(u+2) - F(u+1) - F(1)$ || $\leq \delta e^{u+2}$

:

$$||F(u+k) - F(u+k-1) - F(1)|| \le \delta e^{u+k}$$

for all $u \in [0,1]$ and $k \in \mathbb{N}$. Summing up these inequalities we obtain

$$||F(u + (25) - F(u) - kF(1)|| \le \delta e \cdot e^{u+k} (1 + e^{-1} + \dots + e^{-k+1}) \le \delta e \cdot e^{u+k}$$

for all $u \in [0,1]$ and $k \in \mathbb{N}$. We assert that

$$(3.6) ||F(v) - A(v)|| \le 4\delta e \cdot e^v$$

for all $v \in [0, \infty)$.

In fact, let $v \geq 0$ and let $k \in \mathbb{N} \cup \{0\}$ be given with $v - k \in [0, 1]$. Then, by (3.4) and (3.5), we have

$$||F(v) - A(v)|| \leq ||F(v) - F(v - k) - kF(1)|| + ||F(v - k) - A(v - k)|| + ||A(k) - kF(1)|| \leq \delta e \cdot e^{v} + 3\delta e + ||A(k) - kF(1)|| \leq \delta e \cdot e^{v} + 3\delta e + k||A(1) - F(1)|| \leq \delta e \cdot e^{v} + 3\delta e + 3\delta e v \leq \delta e(e^{v} + 3(1 + v)) < 4\delta e \cdot e^{v}.$$

Hence, from (3.6) and the definition of F, it follows that

$$||g(x) - A(-ln(x+\alpha))|| \le 4\delta e \cdot e^{-ln(x+\alpha)} = \frac{4\delta e}{x+\alpha}$$

for all $x \in (-\alpha, 0]$, i.e.,

(3.7)
$$\left\| \frac{f(x)}{x+\alpha} - A(-\ln(x+\alpha)) \right\| \le \frac{4\delta e}{x+\alpha}$$

for all $x \in (-\alpha, 0]$. If we put $H(x) = (x + \alpha)A(-\ln(x + \alpha))$ for all $x \in (-\alpha, 0]$, we can easily check that H is a solution of the functional equation (1.3) by Theorem 2.1. This and (3.7) yield that

$$||f(x) - H(x)|| \le (4e)\delta$$

for all $x \in (-\alpha, 0]$ which proves (3.7). The proof of the theorem is complete.

It is interesting that in Theorem 3.1 the $\alpha = 1$ case is included (cf. [11, Theorem 3.2]).

Theorem 3.2. Let X be a real (or complex) Banach space, and let $f:(0,1] \to X$ be a mapping satisfying the inequality

$$(3.8) ||f(xyz) - xf(yz) - xzf(y) - zf(xy)|| \le \delta$$

for some $\delta > 0$ and for all $x, y, z \in (0,1]$. Then there exists a solution $H:(0,1] \to X$ of the functional equation (1.2) such that

(3.9)
$$||f(x) - H(x)|| \le (6e)\delta$$

for all $x \in (0,1]$.

PROOF. By putting x = y = z = 1 in (3.8), we know that $||f(1)|| \le \frac{\delta}{2}$. In (3.8), we set y = 1, then replace z by y, and get

$$||f(xy) - xf(y) - yf(x)|| \le \frac{3}{2}\delta$$

for some $\delta > 0$ and for all $x, y \in (0, 1]$. From the result in [23], we obtain the inequality (3.9), as desired.

Now let us prove the main theorem of the section which is the super-stability of the functional equation (1.3) on the interval $[0, \infty)$.

Theorem 3.3. Let X be a real (or complex) Banach space, and let $f:[0,\infty)\to X$ be a mapping satisfying the inequality

$$(3.10) ||f(\alpha x + \alpha y + xy + \alpha \beta) - \alpha f(x) - \alpha f(y) - xf(y) - yf(x)|| \le \delta$$

for some $\delta > 0$ and for all $x, y \in [0, \infty)$. Then f satisfies the functional equation (1.3) for all $x, y \in [0, \infty)$.

PROOF. Defining the mapping $g:[0,\infty)\to X$ by

$$g(x) = \frac{f(x)}{x + \alpha}$$

for all $x \in [0, \infty)$ as in the proof of Theorem 3.1, and defining the mapping $F:[0,\infty) \to X$ by

$$F(\ln(x+\alpha))=g(x)$$

for all $x \in [0, \infty)$, we see, by putting $u = ln(x + \alpha)$ and $v = ln(y + \alpha)$, that

(3.11)
$$||F(u+v) - F(u) - F(v)|| \le \delta e^{-(u+v)}$$

for all $u, v \in [0, \infty)$. We claim that F is additive.

From (3.11) with $\delta_n = \delta e^{-n}$ $(n \in \mathbb{N})$, we obtain

$$||F(u+v) - F(u) - F(v)|| \le \delta_n$$

for all $u, v \in [0, \infty)$ with u + v > n.

We now define a mapping $T: \mathbb{R} \to X$ by

$$T(u) = \begin{cases} F(u) \text{ for } u \ge 0, \\ -F(-u) \text{ for } u < 0. \end{cases}$$

It is not difficult to see that

$$||T(u+v)-T(u)-T(v)|| \leq \delta_n$$

for all $u, v \in \mathbb{R}$ with |u| + |v| > n. Therefore, by Theorem 2.4, there exists a unique additive mapping $A_n : \mathbb{R} \to X$ satisfying

$$(3.12) ||T(u) - A_n(u)|| \le 9\delta_n$$

for all $u \in \mathbb{R}$. Let $m, n \in \mathbb{N}$ with n > m. Then the additive mapping $A_n : \mathbb{R} \to X$ satisfies $||T(u) - A_n(u)|| \le 9\delta_m$ for all $u \in \mathbb{R}$. The uniqueness argument now implies $A_n = A_m$ for all $n \in \mathbb{N}$ with n > m > 0, and thus $A_1 = A_2 = \cdots = A_n = \cdots$. Taking the limit in (3.12) as $n \to \infty$, we obtain $T = A_1$ and we deduce that F is additive.

Now, according to the definitions of F and g, we have

$$\frac{f(x)}{x+\alpha} = F(\ln(x+\alpha))$$

for all $x \in [0, \infty)$, i.e.,

$$f(x) = (x + \alpha)F(ln(x + \alpha))$$

for all $x \in [0, \infty)$, and hence we see that f satisfies the functional equation (1.3) for all $x, y \in [0, \infty)$ by Theorem 2.1 since F is additive and $D(x) = xF(\ln(x))$ ($x \in [1, \infty)$) is a solution of the functional equation (1.2). This completes the proof of the theorem.

The theorem 4.2 introduced in [11] is a special case of the preceding theorem.

Theorem 3.4. Let X be a real (or complex) Banach space, and let $f:[1,\infty)\to X$ be a mapping satisfying the inequality

$$||f(xyz) - xf(yz) - xzf(y) - zf(xy)|| \le \delta$$

for some $\delta > 0$ and for all $x, y, z \in [1, \infty)$, where f(1) = 0. Then f satisfies the functional equation (1.2) for all $x, y \in [1, \infty)$.

PROOF. If we use the same method as the proof of Theorem 3.2, then we have

$$||f(xy) - xf(y) - yf(x)|| \le \delta$$

for some $\delta > 0$ and for all $x, y \in [1, \infty)$. Therefore, by the result of in [13], f satisfies the equation (1.2). The proof of Theorem is complete.

We remarked that the two theorems mentioned above hold for $\alpha < 0$.

Acknowledgement

We thank the referees for their valuable comments and help.

References

- [1] J. A. Baker, The stability of the equation f(x+y) = f(x)f(y), Proc. Amer. Math. Soc. 74 (1997), 242-246.
- [2] S. Czerwik, On the stability of the quadratic mappings in normed spaces, Abh. Math. Sem. Univ. Hamburg 62 (1992), 59-62.
- [3] D. H. Hyers, On the stability of the linear functional equation, Proc. Nat. Acad. Sci. 27 (1941), 222-224.
- [4] D. H. Hyers, G. Isac, and Th. M. Rassias, Stability of functional equations in several variables, Birkhäuser, Boston/ Basel/ Berlin, 1998.
- [5] D. H. Hyers, G. Isac, and Th. M. Rassias, On the asymptoticity aspect of Hyers-Ulam stability of mappings, Proc. Amer. Math. Soc. 126 (1998), 425-430.
- [6] D. H. Hyers and Th. M. Rassias, Approximate homomorphisms, Aequationes Math. 44 (1992), 125-153.

- [7] K.-W. Jun, D.-S. Shin, and B.-D. Kim, On Hyers-Ulam-Rassias stability of the Pexider equation, J. Math. Anal. Appl. 239(1999), 20-29.
- [8] Y.-H. Lee and K.-W. Jun, A generalization of the Hyers-Ulam-Rassias stability of Jensen's equation, J. Math. Anal. Appl. 238(1999), 305-315.
- [9] S.-M. Jung, On the superstability of the functional equation $f(x^y) = yf(x)$, Abh.Math. Sem. Univ. Hamburg 67 (1997), 315-322.
- [10] S.-M. Jung, Hyers-Ulam-Rassias stability of a quadratic functional equation, J. Math. Anal. Appl. 232 (1999), 384-393.
- [11] Y.-S. Jung and K.-H. Park, On the stability of the functional equation f(x+y+xy)=f(x)+f(y)+xf(y)+yf(x), J. Math. Anal. Appl. 274 (2002), 659-666.
- [12] Gy. Maksa, Problems 18, In 'Report on the 34th ISFE', Aequationes Math. 53 (1997), 194.
- [13] Zs. Páles, Remark 27, In 'Report on the 34th ISFE', Aequationes Math. 53 (1997), 200-201.
- [14] Th. M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Amer. Math. Soc. 72 (1978), 297-300.
- [15] Th. M. Rassias, On the stability of functional equations in Banach spaces, J. Math. Anal. Appl. 251 (2000), 264-284.
- [16] Th. M. Rassias, On the stability of functional equations and a problem of Ulam, Acta Math. Appl. 62 (2000), 23-130.
- [17] Th. M. Rassias (Ed.), Functional Equations and inequalities, Kluwer Academic, Dordrecht/ Boston/ London, 2000.
- [18] Th. M. Rassias and J. Tabor, Stability of mappings of Hyers-Ulam type, Hadronic Press, Inc., Florida, 1994.
- [19] Th. M. Rassias and P. Šemrl, On the the behavior of mappings which does not satisfy Hyers-Ulam stability, Proc. Amer. Math. Soc. 114 (1992), 989-993.
- [20] Th. M. Rassias and J. Tabor, What is left of Hyers-Ulam stability?, Journal of Natural Geometry 1 (1992), 65-69.
- [21] F. Skof, Sull'approssimazione delle appliazioni localmente δ-additive, Atti Accad. Sc. Torino 117 (1983), 377-389.
- [22] F. Skof, Proprietá locali e approssimazione di opertori, Rend. Sem. Mat. Fis. Milano 53 (1983), 113-129.
- [23] J. Tabor, Remarks 20, In 'Report on the 34th ISFE', Aequationes Math. 53 (1997), 194-196.
- [24] S. M. Ulam, Problems in Modern Mathematics, Chap. VI, Sciences Editions, Wiley, New York, 1960.

Eun Hwi Lee Department of Mathematics Jeonju University Jeonju 560-759, Korea E-mail: ehl@@jj.ac.kr

Ick-Soon Chang
Department of Mathematics
Mokwon University
Taejon 302-729, Korea
E-mail: ischang@@mokwon.ac.kr

Yong-Soo Jung
Department of Mathematics
Chungnam National University
Taejon 305-764, Korea
E-mail: ysjung@@math.cnu.ac.kr